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Question: 1 

Which of the following is a challenge in a J2EE? 

Reliability 

Question: 2 

Which of the following is not a J2EE client? 

JSP 

Question: 3 

Which of the following is not a web centric component? 

Applets 

Question: 4 

Which of the following is not a reserved word? 

then 

Question: 5 

Which one of the following that controls communication between 

tiers in J2EE multi tiers architecture? 

ACL 

Question: 6 



How can a servlet call a JSP error page? 

The servlet needs to forward the request to the specific error 
page URL. The exception is passed along as an attribute named 
“javax.servlet.jsp.jspException” 

Question: 7 

Which of the following act as an interface between a component 

and the low level platform? 

Container 

Question: 8 

Which of the following is not a feature of Message Driven Bean? 

The container cannot pool instances 

Question: 9 

A JMS message producer is created by 

session 

Question: 10 

Which technology provides the flexibility to swap between XML 

processors with no application code changes? 

JAXP 

 


